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’ 100kN/mM%#BZ % -l -~ - -|3mEBZB| - ~ - - -| 100kN/mM%E#B 2% - -~ - ~-|3mZEiBZ5 -~ - - -
Zh st 1.00/000 ~ 7.11 90.27| Zhkls |0.00 ~ 7.11| 1.82 9.75 ZTh LS 1.00] 500 ~ 902 90.27| Zhils | 500 ~ 9.02| 1.82 9.75
9 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - —-[3mZEEZS -~ - - -
Zh st 1.00/ 000 ~ 6.94 87.95| ThLls |0.00 ~ 6.94| 1.91 10.20 ZTh s 1.00] 500 ~ 903 87.95| ThLlst | 500 ~ 9.03| 1.91 10.20
3 100kN/mM%#BZ % - -~ - -|3mZEiB =% -~ - - -| 100kN/mM%#% % - -~ - -[3m%E#BZ B -~ - - -
Zh st 1.00/ 000 ~ 6.44 81.11] Thils |0.00 ~ 6.44| 202 10.79 ZTh LS 1.00] 500 ~ 880 81.11] Zhkls | 500 ~ 880| 2.02 10.79
4 100kN/m#%#BZ % - -~ - -|3mEEZS -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%E#Bx B -~ - - -
Zh st 1.00/0.00 ~ 7.06 89.63| ThList |0.00 ~ 7.06] 1.78 9.51 ZTh s 1.00] 500 ~ 884 89.63| ThLlst | 500 ~ 884| 1.78 9.51
5 100kN/m%#B% % 1.00/0.00 ~ 0.06 100.92|3mZEi#BRBH| - ~ - - -] 100kN/mM%E#B 2% 1.00| 10.92 ~ 11.08 100.92|3m%#BZ 5 -~ - - -
Zh st 1.00/ 006 ~ 7.85 100.00f Zxli4t (000 ~ 7.85| 233 12.48 ZTh LS 1.00] 500 ~ 10.92 100.00f Zh st | 500 ~ 11.08] 233 12.48
6 100kN/m%#BZ % - -~ - -|3mEEZ5 -~ - - -| 100kN/mM%#% % - -~ - ~-[3m%Ei#BZ B -~ - - -
Zh st 1.00/ 000 ~ 7.18 91.33| ZhLls |0.00 ~ 7.18] 247 13.24 ZTh LS 1.00] 500 ~ 10.38 91.33] Zhbklst | 500 ~ 10.38| 2.47 13.24
7 100kN/mM%#BZ % - -~ - -|3mEEZD -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2 5 -~ - - -
Zh st 1.00/ 000 ~ 757 96.90| ZhLlst |0.00 ~ 7.57| 2.33 12.48 Zh LS 1.00] 500 ~ 10.38 96.90| ZhLlst | 500 ~ 10.38] 2.33 12.48
8 100kN/m%#BZ % - -~ - -|3mEEZ5 -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#Bx 5 -~ - - -
Zh st 1.00/ 000 ~ 7.63 97.70| ZhLls |0.00 ~ 7.63] 2.36 12.61 Zh LS 1.00] 500 ~ 1064 97.70| Zhkls | 500 ~ 10.64| 2.36 12.61
9 100kN/m%#BZ % - -~ - -|3mEEZS -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
Zh st 1.00/ 000 ~ 757 96.94| ThLls |0.00 ~ 7.57| 2.38 12.72 ZTh LS 1.00] 500 ~ 10.64 96.94| ThLlst | 500 ~ 10.64| 2.38 12.72
10 100kN/m%#B% % - -~ - -|3mEEZD -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
Zh st 1.00/ 000 ~ 6.93 87.74| Thiuls |0.00 ~ 6.93] 1.83 9.81 ZTh LS 1.00] 500 ~ 867 87.74| Thils | 500 ~ 867| 1.83 9.81
11 100kN/m#%#BZ % - -~ - -|3mEEZ5 -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#BZ B -~ - - -
ZThLst 1.00/ 000 ~ 5389 7377 #h st [000 ~ 0.00| 1.68 9.01 ZTh LS 1.00] 500 ~ 6.71 73.77| Thils | 500 ~ 6.71| 1.68 9.01
12 100kN/m%#BZ % - -~ - -|3mEEZ5 -~ - - -| 100kN/mM%#% % - -~ - —-[3m%Ei#B2x B -~ - - -
ZThLlst 1.00/ 000 ~ 543 67.78| ThLls |0.00 ~ 0.00] 1.68 8.97 Zh LS 1.00] 500 ~ 598 67.78] ThbLlst | 500 ~ 598| 1.68 8.97
13 100kN/m%#BZ % -l -~ - -|3mZEBZB| - ~ - - —-| 100kN/mM%#B 2% - -~ - -|3m%EBZ5 -~ - - -
ZTh LSt 1.00/ 0.00 ~ 4.04 50.63| ZhLlst |0.00 ~ 4.04] 212 11.37 Zh LS 1.00] 500 ~ 534 50.63| ZhLlst | 500 ~ 534| 2.12 11.37
14 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
ZTh st -l -~ - -| LIS -~ - - - ZTh LS - -~ - -| ZhList -~ - - -
15 100kN/mM%#B% % -l -~ - -|3mZEBZB| - ~ - - -| 100kN/mM%#B 2% - -~ - -|3m%EBZS -~ - - -
Zh s -l -~ - - =R LSt -~ - - - Zh st - -~ - -| Zhus -~ - - i
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